Investigation of Personality Traits between Infertile Women Submitted to Assisted Reproductive Technology or Surrogacy

Najmeh Asgari, M.A.¹, Fariba Yazdkhasti, Ph.D.^{1*}, Mohammad Hossein Nasr Esfahani, Ph.D.²

1. Department of Psychology, Faculty of Psychology and Educational Sciences, University of Isfahan, Isfahan, Iran
2. Isfahan Fertility and Infertility Center, Isfahan, Iran

Abstract

Background: Personality traits affect human relationships, social interactions, treatment procedures, and essentially all human activities. The purpose of this study is to investigate the personality traits -including sensation seeking, flexibility, and happiness - among a variety of infertile women who were apt to choose assisted reproductive technology (ART) or surrogacy.

Materials and Methods: This is a cross-sectional study that was performed on 251 infertile women who visited Isfahan and Tehran Reproductive Medicine Center. These fertility clinics are located in Isfahan and Tehran, Iran. In this study, 201 infertile women who underwent treatment using ART and 50 infertile women who tended to have surrogacy were chosen by convenience sampling. Zuckerman's Sensation Seeking Scale Form V (SSS-V), Psychological Flexibility Questionnaire (adapted from NEO Personality Inventory-Revised) and Oxford Happiness Questionnaire (OHQ) were used as research instruments. All participants had to complete the research instruments in order to be included in this study. Data were analyzed by descriptive-analytical statistics and statistical tests including multivariate analysis of variance (MANOVA) and Z Fisher. Statistically significant effects were accepted for P<0.05.

Results: In the sensation-seeking variable, there was a meaningful difference between under-study groups. However, the flexibility and happiness variables did not have a significant difference between under-study groups (P<0.001). Interaction between education, employment, and financial status was effective in happiness of infertile women underwent ART (P<0.05), while age, education and financial status were also effective in happiness of infertile women sought surrogacy (P<0.05). A positive meaningful relationship was seen between sensation seeking and flexibility variables in both groups (P<0.05). And a negative meaningful relationship was seen between sensation seeking and happiness in infertile women who sought surrogacy (P<0.05). The difference in rate of relationship between sensation seeking and flexibility was meaningful in infertile women who sought either ART or surrogacy (P<0.05).

Conclusion: Sensations seeking as a personality trait is lower in infertile women who underwent treatment using ART compared women who tended to have surrogacy. This study shows that demographic variables are effective in happiness of infertile women. Also, there is a significant relation among sensation seeking, flexibility and happiness in infertile women.

Keywords: Flexibility, Happiness, Assisted Reproductive Technology

Citation: Asgari N, Yazdkhasti F, Nasr Esfahani MH. Investigation of personality traits between infertile women submitted to assisted reproductive technology or surrogacy. Int J Fertil Steril. 2016; 10(1): 94-104.

Received: 19 Feb 2014, Accepted: 20 Jan 2015 *Corresponding Address: P.O.Box: 81746-73441, Department of Psychology, Faculty of Psychology and Educational Sciences, University of Isfahan, Isfahan, Iran Email: f.yazdkhasti@edu.ui.ac.ir



Introduction

Infertility is a biological, mental, and social phenomenon; in other words, there are some mental, physiological, environmental, and interactional aspects affecting infertility (1). Infertility is defined as the inability to conceive, despite sexual intercourse, during a year without using any contraceptive devices. It is important to know that this period of time decreases to 6 months for women over 35 as this group of women naturally suffers a decrease in their conception ability (2).

Receiving treatments has increased the conception chance among infertile couples who have lost their ability to conceive (3). However, a research has indicated that a myriad of factors cause tension in these groups, including several medical tests, length of infertility treatment, low level of treatment success, and financial hardship from infertility treatment costs. These factors are so important that they cause infertile individuals to discontinue the treatment (4). Personality traits are among effective factors on human relation, social interaction, treatment procedure, and generally all human activities in the community (5). Sensation-seeking, flexibility, and happiness are three of the most important components of personality traits that can influence an individual's response to stressful situations.

Sensation seeking is a personality trait that puts emphasis on human behavior and interpersonal relations. As a result, many individual differences can be justified according to this trait. As Zuckerman explained, Sensation seeking is a personality trait which is experienced by seeking feelings and extensive experiences, and by accepting physical, social, legal and financial dangers (6). According to the Zuckerman, sensation seeking is a known trait that occurs with risk-taking (7). Risk-taking behaviors are those behaviors that make physical, psychological, and social results more likely to be negative and destructive (8).

A research has indicated that women who underwent assisted reproductive technology (ART) are at the increased risk of endometrial (9) and ovarian cancer (10-12). Children whose mothers gave birth with the help of ART are also more likely to suffer from physical problems. The study carried out by Ceelen et al. (13) has indicated that the risk of cardiovascular disease is more common in chil-

dren born with *in vitro* fertilization (IVF). Furthermore in Iran, insurance companies refuse to cover the costs of fertility treatment, so patients have to accept the financial risks.

Surrogacy also has its own dangers; patients undergoing this treatment have to accept the probable risks (14, 15), including: increased risk of infertility, regret after facing surrogacy difficulties (16), refusing to give the baby to the couple, having a relationship with the baby's father (17), and not caring for the fetal health (18). Thus both ART and surrogacy have a number of risk factors that may be related with sensation seeking of women undergoing these procedures.

Another important personality trait that can affect infertility treatment procedures is flexibility. Psychological flexibility is defined as the ability to "recognize and adapt to various situational demands; shift mindsets or behavioral repertoires when these strategies compromise personal or social functioning; maintain balance among important life domains; and be aware, open, and committed to behaviors that are congruent with deeply held values" (19).

Some studies have demonstrated that flexibility in infertile couples could be an unknown protective factor against regression, resulting from infertility and reduction in life quality (20). In the research carried out by Repokari et al. (21), they have shown that some couples undergoing ART are more flexible to the negative effect of stressful psychological factors and consequently experience a feeling of bonding during infertility treatment.

In the case of surrogacy, flexibility again is a positive aspect of treatment. The American Society for Reproductive Medicine (ASRM) has pointed out that sympathy, compatibility, and flexibility in the couple seeking surrogacy guarantee the treatment success (22).

Happiness appears to be another personality variable. The following is the definition given by Argyle on happiness:

Happiness is the state of being happy or delightful (positive excitements), being satisfied with life being far from any anxiety and depression (negative sentiment) (23). Happiness is within the realm of health psychology and under the effect of different factors such as mental (24), physical (25), eco-

nomical (26) and religious (27) factors. Therefore, many personal differences can be justified based on these factors.

Research studies have revealed that the quality of marital relationship is considered as a meaningful predictive factor in happiness and desirable life, while low marital quality can lead to a myriad of social and family problems (28). Results of some other research studies, on the other hand, have demonstrated that infertility is associated with marital problems, causing a lot of mental and social problems (29). Therefore, it is hypothesized that infertility leads to low level of happiness in such individuals.

There is a number of research studies on depression and anxiety of infertile women, indicating that these women suffer from a high level of depression and anxiety (30-32). Depression could influence infertility treatment, follow-up programs, and future hope in these patients (33, 30). According to results from Ferreira's research, happiness increases the probability of continuing follow-up treatment programs in these women (34).

The purpose of this study is to investigate the personality traits including sensation seeking, flexibility, and happiness among a variety of infertile women who were apt to choose ART or surrogacy.

Materials and Methods

Approval for this cross-sectional study was obtained from the Isfahan University, Isfahan, Iran, in 2013. This study was performed on 251 infertile women who visited Isfahan Reproductive Center and Tehran Royan research Center. These fertility centers are located in Isfahan and Tehran, Iran. In this study, 201 infertile women who underwent ART and 50 infertile women who underwent surrogacy were selected by convenience sampling. Researchers attended these centers 4 days per week from April 13, 2013 to July 7, 2013. All participants were asked to sign an informed consent before entering the research. Data was collected using Zuckerman's Sensation Seeking Scale Form V (SSS-V), Psychological Flexibility Questionnaire (adapted from NEO Personality Inventory - Revised) and Oxford Happiness Questionnaire (OHQ). All participants also had to complete the research instruments in order to be included in this study.

Zuckerman's sensation seeking scale form V

This questionnaire was developed by Marvin Zuckerman in 1978. Different studies have estimated the reliability of this questionnaire higher than 0.85. In the study performed by Corulla (35), internal validity of this questionnaire was estimated 0.86 for females and 0.83 for males. In a research carried on university students, Mahvi Shirazi (36) reported the validity and reliability values of sensation seeking questionnaire were 0.78 and 0.80, respectively.

Psychological flexibility questionnaire

This scale is a collection of questions on three traits of imagination (O1), beliefs (O5) and familiarity factor values (O6), which was adapted from five main factors of personality. Different studies have estimated the reliability of this questionnaire higher than 0.85. In a study by Costa and McCrae (37), the validity of flexibility in the quintuple standard personality questionnaire was reported 0.87. In Iran, reliability coefficient for flexibility questionnaire was estimated 0.80 (38). Other studies in Iran by Keshavarz et al. (39) achieved Cronbach alpha of this questionnaire for 0.70.

Oxford happiness questionnaire

Argyle et al. (40) developed this scale in 1989. Different studies estimate reliability of this questionnaire about 0.9. A number of studies have been conducted on the validity and reliability of the OHQ by Liaghatdar et al. (41) as well as Alipur and Nurbala (42). They reported a satisfactory internal consistence, indicating that total score of all 29 items yielded high correlation coefficients. The reliability values achieved by Cronbach's alpha and split-half were 0.93 and 0.92, respectively.

Statistical analysis

All statistical analyses were performed using the Statistical Package for Social Sciences 19.0 (SPSS, SPCC Inc., USA) software. Data were analyzed by descriptive-analytical statistics and statistical tests including multi-variable analysis of variance (MANOVA) and Z Fisher. Statistically significant effects were accepted for P<0.05.

Results

In this study, 88.4% of samples were over 40 years of age and 11.6% were below 40. As far as education is concerned, 12.7% of participants did not have their high school diploma, 44.6% had received their high school diploma, 12% had associate degree, 25.5% had a bachelor's science (B.Sc.), and 5.2% had a master's degree or higher. Regarding employment status, 74.5% of participants were housewives and 25.5% were employees.

Indexes of descriptive statistics including mean and SD are available in Table 1. In order to analysis of the differences between under-study groups in the field of sensation seeking, flexibility, and happiness, we employed MANOVA, shown in Table 2. The assumption of homogeneity of variances was carried out using Levene's.

According to Table 2, there are meaningful differences regarding sensation seeking between groups. So the rate of sensation seeking is significantly higher in surrogacy group compared to ART treatment group. However, there are no meaningful differences regarding happiness and flexibility between two groups.

Tables 3 and 4 show the results of MANOVA, indicating the differences created in sensation seeking, happiness, and flexibility variables by participants' age, education level, employment status, and financial status.

Table 3 depicts the interaction of education, employment, and financial status affects the happiness in infertile women who sought treatment. Moreover, interaction between education and financial status as well as the interaction between employment and financial status affect happiness. However, interaction between education and employment affects the sensation seeking. Table 3 also demonstrates that in ART treatment group, education affects the sensation seeking, employment status affects the flexibility, and financial status affects the happiness.

Table 4 indicates that only age, education, and financial status affects happiness in infertile women who underwent surrogacy.

Group variable **Sensation seeking Flexibility Happiness** Mean SD Mean n Mean SD SD n Seeking treatment 201 20.627 3.749 201 26.91 5.498 201 42.22 12.94 23.24 Surrogacy 50 3.879 50 26.98 5.192 50 39.98 11 54

Table 1: Descriptive statistics of groups

Table	2:	Summary	of	MANOVA
IUNIC		Julilliai	, 01	

Difference source	Statistical index	SS	df	MS	F	Meaningful level
Intergroup	Sensation seeking	273.411	1	273.411	19.187	0.001*
	Flexibility	0.194	1	0.194	0.007	0.936
	Happiness	201.601	1	201.601	1.254	0.264
Intragroup	Sensation seeking	3548.135	249	14.25		
	Flexibility	7367.368	249	29.588		
	Happiness	40021.905	249	160.731		
Sum	Sensation seeking	116072	251			
	Flexibility	189322	251			
	Happiness	478296	251			

MANOVA; Multi-variable analysis of variance, SS; Sum of squares, df; Degree of freedom, MS; Mean squares, F; Function and *; P<0.001.

 Table 3: The summary of MANOVA of infertile women underwent ART

Difference source	Statistical index	SS	df	MS	F	Meaningful level
Age	Sensation seeking	16.012	1	16.012	1.4	0.239
	Flexibility	2.437	1	2.437	0.08	0.774
	Happiness	34.27	1	34.27	0.25	0.618
Education level	Sensation seeking	300.15	5	60.031	5.24	0.000^{*}
	Flexibility	58.417	5	11.683	0.4	0.851
	Happiness	1133.1	5	226.61	1.65	0.15
Employment status	Sensation seeking	13.514	1	13.514	1.18	0.279
	Flexibility	224.35	1	224.35	7.62	0.006^{*}
	Happiness	29.385	1	29.385	0.21	0.645
Financial status	Sensation seeking	5.908	2	2.954	0.26	0.773
	Flexibility	9.125	2	4.563	0.16	0.857
	Happiness	4180.9	2	5.831	15.2	0.000^{*}
Interaction between age and education	Sensation seeking	45.379	2	22.69	1.98	0.141
	Flexibility	1.704	2	0.852	0.03	0.971
	Happiness	147.19	2	73.594	0.54	0.587
Interaction between age and employ-	Sensation seeking	0.00	0	Y	_	_
ment status	Flexibility	0.00	0			_
	Happiness	0.00	0			_
Interaction between age and financial	Sensation seeking	0.00	0			_
status	Flexibility	0.00	0			_
	Happiness	0.00	0			_
Interaction between education and	Sensation seeking	144.27	2	72.135	6.3	0.002*
employment status	Flexibility	55.251	2	27.626	0.94	0.393
	Happiness	42.026	2	21.013	0.15	0.859
Interaction between education and	Sensation seeking	94.956	6	15.826	1.38	0.224
financial status	Flexibility	41.286	6	6.881	0.23	0.965
	Happiness	3096.5	6	516.08	3.75	0.002^{*}
Interaction between employment	Sensation seeking	0.047	1	0.047	0.00	0.949
status and financial	Flexibility	28.763	1	28.763	0.98	0.324
	Happiness	758.39	1	758.39	5.51	0.02^{*}
Interaction between age, education	Sensation seeking	0.00	0			
and employment status	Flexibility	0.00	0	_	_	_
Ť	Happiness	0.00	0	_	_	_
Interaction between age, education	Sensation seeking	0.00	0	_	_	_
and financial status	Flexibility	0.00	0	_	_	_
	Happiness	0.00	0	_	_	_
Interaction between age, employment	Sensation seeking	0.00	0	_	_	_
status and financial status	Flexibility	0.00	0	_	_	_
	Happiness	0.00	0	_	_	_
	11appiness	0.00	U	_	_	_

Table 3: Continued

Difference source	Statistical index	SS	df	MS	F	Meaningful level
Interaction between education, em-	Sensation seeking	11.797	1	11.797	1.03	0.311
ployment status and financial status	Flexibility	20.076	1	20.076	0.68	0.41
	Happiness	885.92	1	885.92	6.44	0.012^{*}
Interaction between age, education,	Sensation seeking	0.00	0	_	_	_
employment status and financial status	Flexibility	0.00	0	_	_	_
	Happiness	0.00	0	_	_	_
Error	Sensation seeking	2038.4	178	11.452		
	Flexibility	5243.4	178	29.458		
	Happiness	24505	178	137.67		
Sum	Sensation seeking	88330	201			
	Flexibility	151605	201	. 1		
	Happiness	391849	201	4		

MANOVA; Multi-variable analysis of variance, ART; Assisted reproductive technology, SS; Sum of squares, df; Degree of freedom, MS; Mean squares, F; Function and *; P<0.05.

Table 4: The summary of the MANOVA of infertile women sought surrogacy

Difference source	Statistical index	SS	df	MS	F	Meaningful level
Age	Sensation seeking	4.316	1	4.316	0.33	0.572
	Flexibility	4.967	1	4.967	0.23	0.636
	Happiness	38.165	1	38.165	0.48	0.494
Education level	Sensation seeking	40.051	5	8.01	0.61	0.695
	Flexibility	88.769	5	17.754	0.82	0.547
	Happiness	167.18	5	33.436	0.42	0.831
Employment status	Sensation seeking	0.018	1	0.018	0.00	0.971
	Flexibility	10.081	1	10.081	0.46	0.501
	Happiness	116.67	1	116.67	1.47	0.236
Financial status	Sensation seeking	34.458	2	17.229	0.26	0.286
	Flexibility	8.812	2	4.406	0.2	0.817
	Happiness	96.165	2	48.083	0.61	0.553
Interaction between age	Sensation seeking	11.836	3	3.945	0.3	0.826
and education	Flexibility	1.704	3	1.584	0.07	0.974
	Happiness	147.19	3	52.255	0.66	0.585
Interaction between age	Sensation seeking	0.00	0	_	_	_
and employment status	Flexibility	0.00	0	_	_	_
	Happiness	0.00	0	_	_	_
Interaction between age	Sensation seeking	0.06	1	0.06	0.01	0.947
and financial status	Flexibility	1.294	1	1.294	0.06	0.809
	Happiness	108.35	1	108.35	1.36	0.253

Table 4: Continued

Difference source	Statistical index	SS	df	MS	F	Meaningful level
Interaction between edu-	Sensation seeking	0.159	1	0.159	0.3	0.913
cation and employment status	Flexibility	37.398	1	37.398	1.72	0.2
	Happiness	128.14	1	128.14	1.62	0.214
Interaction between edu-	Sensation seeking	101.09	2	50.543	3.83	0.033
cation and financial status	Flexibility	46.476	2	23.238	1.07	0.356
	Happiness	224.14	2	112.07	1.41	0.261
Interaction between	Sensation seeking	0.00	0	_		_
employment status and financial	Flexibility	0.00	0	_		_
	Happiness	0.00	0			_
Interaction between age,	Sensation seeking	0.00	0	_, \		_
education and employ- ment status	Flexibility	0.00	0			_
ment status	Happiness	0.00	0			_
Interaction between age,	Sensation seeking	26.501	1	26.501	2.01	0.167
education and financial status	Flexibility	1.726	1	1.726	0.08	0.78
Status	Happiness	449.23	1	449.23	5.65	0.024^{*}
Interaction between age,	Sensation seeking	0.00	0	_	_	_
employment status and financial status	Flexibility	0.00	0) _	_	_
indicial status	Happiness	0.00	0	_	_	_
Interaction between edu-	Sensation seeking	0.00	0	_	_	_
cation, employment status and financial status	Flexibility	0.00	0	_	_	_
	Happiness	0.00	0	_	_	_
Interaction between age,	Sensation seeking	0.00	0	_	_	_
education, employment status and financial status	Flexibility	0.00	0	_	_	_
status and imanetar status	Happiness	0.00	0	_	_	_
Error	Sensation seeking	382.5	29	13.19		
	Flexibility	629.69	29	21.714		
	Happiness	2306.3	29	79.528		
Sum	Sensation seeking	737.12	50			
	Flexibility	1321	50			
	Happiness	6527	50			

MANOVA; Multi-variable analysis of variance, SS; Sum of squares, df; Degree of freedom, MS; Mean squares, F; Function and *; P<0.05.

Fisher's z was used to study the meaningful difference between rates of the correlations in ART treatment and surrogacy groups. In this statistical method, r coefficients are changed to z scores and then differences between z scores are computed. Achieved results are available in Tables 5 and 6. In Table 5, the transformation of Fisher's r into z-scores is shown.

Table 6 shows the meaningful differences between correlations of two groups and also it shows only the difference in correlation between sensation seeking and flexibility is significant. Based on Table 5, this correlation is significantly higher in surrogacy group compared to ART treatment group.

Group	The correla- tion between	The correla- tion between	The correla- tion between	Changing r	Changing r	Changing r into Z-scores
	sensation seeking and flexibility	sensation seeking and happiness	flexibility and happiness	for sensation seeking and flexibility	for sensation seeking and happiness	for flexibility and happiness
Group 1	0.206*	0.00	0.039	0.011	0.00	0.333
Group 2	0.394^{*}	-0.321*	-0.258	0.375	0.039	0.264

Table 5: Transformation of Fisher's r into Z-scores

Table 6: The meaningful differences between correlations of two groups

Sensation seeking Z and flexibility in both groups	Sensation seeking Z and happiness in both groups	Flexibility Z and happiness in both groups
-2.25*	-0.24	0.94

^{*;} P<0.05.

Discussion

The results of this research study provide families, therapists and mental health counselors, researchers, and infertile women with many practical applications. Understanding personality type of infertile woman can help her to choose a proper treatment method. Infertility is a phenomenon that therapists need to be aware of and skillful enough to prevent the tensions treating physical and mental health of infertile women.

According to the achieved results, there was a meaningful difference in terms of sensation seeking between groups. However, the same story was not true for flexibility and happiness. The researchers couldn't find a similar research that had considered these variables with the same groups. Although there are a number of studies pointing out the following risks that a person underwent surrogacy may experience (43): social risks; psychological risks including remorse (16), not withholding the baby, having a relationship with the baby's father (17) and not caring for the fetal health (18, 44); legal risks (45); financial risks (46, 47, 14, 15) as well as the potential risks of ART (43). However, our finding indicated high level of sensation seeking in a large number of individuals who underwent surrogacy.

According to Zuckerman (1979 and 1991), education, employment, and financial status affect the sensation seeking of infertile women underwent treatment. He showed that participants with university degrees achieved a higher score in sensa-

tion seeking. Moreover sensation seeking, adventure seeking, and experience seeking were seen among individuals appertaining to middle or high class of society (48, 49).

According to other findings, employment status can affect flexibility in infertile women who sought treatment. As Bradbury et al. (50) suggested a variety of factors can affect the marital compatibility and individuals' flexibility. Similar to their findings, we pointed out the sociocultural variables such as age, education, employment status, and financial status as effective factors.

Concerning the effect of demographic features on infertile women's happiness, our results indicated that financial status and education affected the happiness in infertile women who underwent treatment. Interaction between age, education and financial status also affected the happiness in infertile women who sought surrogacy. These findings were also in agreement with Ramezanzadeh et al. (51) and De Ree and Alessie (52). According to the results achieved by Ramezanzadeh et al. (51), education level causes a decrease in infertile women's depression, while it leads to an increase in happiness in them. Thus, education plays an important role in generating interests and developing self-satisfaction, resulting in happiness. Additionally, the relationship between education level and happiness is mostly resulted from high education level, successful career and high income (52).

According to achieved results, there was a positive meaningful relation between sensation

^{*:} P<0.05.

seeking and flexibility in both groups of infertile women, indicating the meaningful difference regarding rates of relationships in the two groups. These findings were also in agreement with Lauriola and Levin (53), Nicholson et al. (54), Soane and Chmiel (55), Anic (56) and Vries et al. (57). Sensation-seeking individuals are the most willing to take risks. They often seek new experiences and are willing to challenge possibilities. Sensationseekers do not hesitate to go in different directions. especially when it comes to new ideas and innovations. They also have a high tendency to adapt quickly to changing circumstances because it feeds their desire for novel experiences. Therefore, flexibility is expected to have positive relationship with sensation seeking (54).

There were no meaningful differences between groups concerning the relationship between flexibility and happiness. Thus, flexible individuals increase their happiness because they own more choices (58). These findings are in agreement with those of Hayes and Joseph (59). However, since women who sought treatment failed many times in their programs, they may experience negative sensational feelings, suggesting no meaningful relation between flexibility and happiness.

Concerning the relationship between sensation seeking and happiness, a significant negative relationship is observed among infertile women seeking surrogacy. To shed light on these results, it should be noted that women seeking surrogacy, due to their specific conditions, must undergo a hazardous and costly treatment. The difficulties of these treatments lead to a reduction of overall happiness. However, this relationship is not observed in women undergoing ART. It is recommended this issue to be considered in future studies where personality traits can have a meaningful relation with infertile women's preferences over the treatment method. Another recommendation is to develop interference programs for recognizing personality traits and increasing flexibility and happiness in the group of infertile women, so women can respond to the pressures resulting from infertility and treatment more easily and make better decisions on treatment methods. One of the limitations of this study was the low number of women seeking surrogacy. Furthermore we only investigated three traits of personality traits, while other personality traits may be important to the subject of this study.

Also a cross sectional study does not allow cause-effect conclusions, so the results of the study had no control over the confounding variables.

Conclusion

Based on the results of this study, sensations seeking as a personality trait is lower in infertile women who underwent ART as compared women who tended to have surrogacy. This study showed that demographic variables were effective in happiness of infertile women. Also there is a significant relation among sensation seeking, flexibility and happiness in infertile women. Thus in infertile women, those with higher rates of sensation seeking were more likely to choose surrogacy rather than ART treatment, and these individuals needed further psychological intervention to improve their happiness.

Acknowledgements

We heartily thank all those who helped us carry out this research, and all women who participated in this research. There is no financial support and conflict of interest in this study.

References

- Stanton AL, Dunkel-Schetter C, Lobel M. Infertility: perspectives from stress and coping research. 1st ed. New York: Springer Publisher; 1991; 29-57.
- Rascanu R, Vladica S. Attitudinal and emotional structures specific for infertile women. Procedia Soc Behav Sci. 2012; 33(3): 100-103.
- Barrett JC. The estimation of natural sterility. Genus. 1986; 42(3-4): 23-31.
- de Liz TM, Strauss B. Differential efficacy of group and individual/couple psychotherapy with infertile patients. Hum Reprod. 2005; 20(5): 1324-1332.
- Gutie'rrez JLG, Jime'nez BM, Herna'ndez EG, Puente CP. Personality and subjective well-being: big five correlates and demographic variables. Pers Individ Dif. 2005; 38(7): 1561-1569.
- Legrand FD, Goma`-i-freixanet M, Kaltenbach ML, Joly PM. Association between sensation seeking and alcohol consumption in French college students: Some ecological data collected in "open bar" parties. Pers Indiv Differ. 2007; 43(7): 1950-1959.
- Zuckerman M, Kuhlman DM. Personality and risk-taking: Common biosocial factors. J Pers. 2000; 68(6): 999-1029.
- Carr-Gregg MR, Enderby KC, Grover SR. Risk-taking behvaiour of young women in Australia, screeing for healthrisk behaviours. Med J Aust. 2003; 178(12): 601-604.
- Cetin I, Cozzi V, Antonazzo P. Infertility as a cancer risk factor - a review. Placenta. 2008; 29 Suppl B: 169-177.
- Sanner K, Conner P, Bergfeldt K, Dickman P, Sundfeldt K, Bergh T, et al. Ovarian epithelial neoplasia after hormonal infertility treatment: long-term follow-up of a historical cohort in Sweden. Fertil Steril. 2009; 91(4): 1152-1158.
- 11. Van Leeuwen FE, Klip H, Mooij TM, Van de Swaluw AM,

- Lambalk CB, Kortman M, et al. Risk of borderline and invasive ovarian tumours after ovarian stimulation for in vitro fertilization in a large Dutch cohort. Hum Reprod. 2011; 26(12): 3456-3465.
- Ka"lle'n B, Finnstrom O, Lindam A, Nilsson E, Nygren KG, Olausson PO. Malignancies among women who gave birth after in vitro fertilization. Hum Reprod. 2011; 26(1): 253-258.
- Ceelen M, Van Weissenbruch MM, Prein J, Smit JJ, Vermeiden JP, Spreeuwenberg M, et al. Growth during infancy and early childhood in relation to blood pressure and body fat measures at age 8-18 years of IVF children and spontaneously conceived controls born to subfertile parents. Hum Reprod. 2009; 24(11): 2788-2795
- Whittaker A. Cross-border assisted reproduction care in Asia: implications for access, equity and regulations. Re-
- prod Health Matters. 2011; 19(37): 107-116. Gugucheva M. Surrogacy in America. Cambridge, MA: Council for Responsible Genetics Cambridge; 2010; 1-40.
- Griswold Z. Surrogacy was the way. Twenty intended mothers tell their stories. 1st ed. USA: Nightengle Press; 2006: 49.
- Finding D. Birthing a Mother: the surrogate body and the pregnant self. J Modern Jewish Studies. 2011; 10(3): 447-
- 18. British Medical Association, Changing conceptions of motherhood. The practice of surrogacy in Britain. 3rd ed. London: BMJ Books Publisher; 1996; 46-48.
- Kashdan TB, Rottenberg J. Psychological flexibility as a fundamental aspect of health. Clin Psychol Rev. 2010; 30(7): 865-878.
- Herrmann D, Scherg H, Verres R, Hagens CV, Strowitzki T, Wischmann T. Resilience in infertile couples acts as a protective factor against infertility-specific distress and impaired quality of life. J Assist Reprod Genet. 2011; 28(11): 1111-1117.
- 21. Repokari L, Punamaki RL, Unkila-Kallio L, Vilska S, Sinkkonen J, Almqvist F, et al. Infertility treatment and marital relationships: a 1-year prospective study among successfully treated ART couples and their controls. Hum Reprod. 2007; 22(5): 1481-1491.
- The American Society for Reproductive Medicine. Psychological assessment of gamete donors and recipients. Fertil Steril. 2004; 82 Suppl 1: 18-19.
- Argyle M. The psychology of happiness. 2nd ed. New York: Routledge publisher; 2001; 88-89
- 24. De Neve KM, Cooper H. The happy personality: a metaanalysis of 137 personality traits and subjective well-being. Psychol Bull. 1998; 124(2): 197-229.
- Maroukalis E, Zervas Y. Effects of aerobic exercise on mood of adult women. Percept Mot Skills. 1993; 76(3 pt
- Murphy GC, Athanasoud JA. The effect of unemployment on mental health. J Occup Organ Psych. 1999; 72(1): 83-
- Ellison CG. Religious involvement and subjective wellbeing. J Health Soc Behav. 1991; 32(1): 80-99.
- Tao P, Coates R, Maycock B. Investigating marital relationship in infertility: a systematic review of quantitative studies. J Reprod Infertil. 2012; 13(2): 71-80.
- Laffont I, Edelmann RJ. Perceived support and counseling needs in relation to in vitro fertilization. J Psychosom Obstet Gynaecol. 1994; 15(4): 183-188.
- Domar AD, Broome A, Zuttermeister PC, Seibel M, Friedman R. The prevalence and predictability of depression in infertile women. Fertil Steril. 1992; 58(6): 1158-1163.
- 31. Matsubayashi H, Hosaka T, Izumi S, Suzuki T, Makino T. Emotional distress of infertile women in Japan. Hum Re-

- prod. 2001; 16(5): 966-969.
- Kazandi M, Gunday O, Mermer TK, Erturk N, Ozkınay E. The status of depression and anxiety in infertile Turkish couples. Iran J Reprod Med. 2011; 9(2): 99-104.
- 33. Ashkani H, Akbari A, Heydari ST. Epidemiology of depression among infertile and fertile couples in Shiraz, southern Iran. Indian J Med Sci. 2006; 60(10): 399-406.
- Ferreira RHJ. The psychofortology of male and female patients undergoing infertility treatment. Presented for M.A. Port Elizabeth. Nelson Mandela Metropolitan University.
- Corulla WJ. A further psychometric investigation of the sensation seeking scale form-v and its relationship to the EPQ-R and the I.7 impulsiveness questionnaire. Pers Indiv Differ. 1988; 9(2): 277-287.
- 36. MahviShirazi M. The study of validity, reliability and standardization culture-dependent Zuckerman's sensation seeking scale. J Shahed University. 2008; 28(1): 35-49.
- Costa PT, McCrae RR. Revised NEO Personality Inventory (NEO-PI-R) and NEO Five-Factor Inventory (NEO-FFI): Professional manual, Odessa: FL; PAR; 1992
- Shokri A, Kadivar P, Daneshpur Z. Sexual differences in intellectual well-being: the role of personality traits. J Pers Soc Psychol. 2007; 13(3): 280-289.
- Keshavarz A, Molavi H, Yarmohamadyan A. The relationship between Dogmatism and flexibility, and relationship between population characteristics and happiness. J Psychology. 2008; 12(1): 4-19.
- Argyle M, Martin M, Crossland J. Happiness as a function of personality and social encounters. Recent advances in social psychology. 1st ed. The Hague: Elsevier Science Publisher; 1989; 189-203.
- Liaghatdar MJ, Jafari E, Abedi MR, Samiee F. Reliability and Validity of the Oxford Happiness Inventory among University Students in Iran. Span J Psychol. 2008; 11(1): 310-313.
- Alipur A, Nurbala A. An introduction to validity and reliability of Oxford Happiness Questionnaire among Tehran university students. Iraninan Psychiatry and Clinical Psychology. 1999; 17(18): 65-55. Tieu M. Oh baby, baby: The problem of surrogacy. Bioeth
- Res Notes. 2007; 19(1): 1-9.
- Ciccarelli JC, Beckman LJ. Navigating rough aters: an overview of psychological aspects of surrogacy. J Soc Issues. 2005; 61(1): 21-43.
- Gamble N. Crossing the line: the legal and ethical problems of foreign surrogacy. Reprod Biomed Online. 2009; 19(2): 151-152.
- Scordato MR. Evidentiary surrogacy and risk allocation: understanding imputed knowledge and notice in modern agency law. Fordham J Corp Fin L. 2004; 10(1): 129-166.
- Haworth A, Claire M. Surrogate mothers: womb for rent. Available from: http://www.seattlepi.com. (1 Jul 2009).
- Zuckerman M. Sensation seeking: beyond the optimal level of arousal. 1st ed. Hillsdale: Lawrence Erlbaum; 1979;
- Zuckerman M. Some dubious premises in research and theory on racial differences: scientific, social and ethical issues. Am Psychol. 1990; 45(12): 1297-1303.
- Bradbury TM, Fincham FD, Beach SRH. Research on the nature and Determinants of Marital Satisfaction. J Marriage Fam. 2000; 62(4): 964-980.
- Ramezanzadeh F, Aghssa MM, Abedinia N, Zayeri F, Khanafshar N, Shariat M, et al. A survey of relationship between anxiety, depression and duration of infertility. BMC Womens Health. 2004; 4(1): 9.
- 52. De Ree J, Alessie R. Life satisfaction and age: dealing with underidentification in age - period - cohort models.

- Soc Sci Med. 2011; 73(1): 177-182.
- Lauriola M, Levin IP. Personality traits and risky decisionmaking in a controlled experimental task: an exploratory study. Pers Individ Dif. 2001; 31(2): 215-226.
- study. Pers Individ Dif. 2001; 31(2): 215-226.

 54. Nicholson N, Soane E, Creevy M, Willman P. Personality and domain-specific risk taking. J Risk Res. 2005; 8(2): 157-176
- Soane E, Chmiel N. Are risk preferences consistent?: The influence of decision domain and personality. Pers Individ Dif. 2005; 38(8): 1781-1791.
- Anic G. The association between personality and risk taking. Graduate Theses and Dissertations. Presented for

- the Ph.D., USA. University of South Florida. 2007.
- Vries RE, De Vries A, Feij JA. Sensation seeking, risk-taking, and the HEXACO model of personality. Pers Individ Dif. 2009; 47(6): 536-540.
- Dif. 2009; 47(6): 536-540.

 58. Dixon PN, Willingham WK, Chandler CK, McDougal K. Relating social interest and dogmatism to happiness and sense of humor. The Journal of Individual Psychology. 1986; 42: 421-427.
- Hayes N, Joseph S. Big 5 correlates of three measures of subjective well-being. Pers Individ Dif. 2003; 34(4): 723-727

